41,

48.

49.

50. -

51.

52.

53.

54.

QP o g

FRY ﬁmzm mm@aﬂmﬂmmmm PR W- bl
“What is the difference between the number of vehicles manufactured by Compauy Y m 2000

and 2001 2

AL 50000 B. 42000 c 33000 D. 21000
gﬁwﬁé&s@wmmmmmwwmmm

What is the dlfference between the total productions of the two Compames m the glven
years ? . i :
A. 19000 B. 22000 C. . 26000 D. .28000'- =

qnaahmmﬁtx %WWMWWWW ? : .
What is the average numbers of vehicles- manufactured by Company X over the given
period ? (rounded off to nearest integer) /

A. 119333 *B. 113666 2 € 112778 D. 111223

e et g e g€ Sl FEE SeaRe e T e 2

In which of the following years, the difference between the productmns of Companies X and
Y was the maxnmum among the given years ?

A, 1997 B. 1998 C. 1999 - D. 2000 <
FEA Y 1 000 I SR FHFA X T ST G SeATH! HI AR & 2
The productlon of Company Y in 2000 was approximately what percent of the pmductlon of

.Company X in the same year ? ?

A 173, B. 164 C: I8V D. 97

The Paclﬁc yew is an evergreen tree that grows in the Pacific Northwest. The Pahfic yew has
a fleshy, poisonous.fruit. Recently, taxol, a substance found in the bark of the Pacif' ic yew,
was discovered to be a promising new anticancer drug. .

A. Taxol is poisonous when taken by healthy people.

B. Taxol,has cured people from various diseases. =

C. People should not eat the fruit of the.Pacific yew. /

D. The Pacific yew was considered worthless until taxol was discovered.

~mm%ww§amwﬁrmwﬁ=a2
A. mma’fmawﬁaﬁwmnﬁ : B. ST G T WA T
C. P SerhY T SR : D. J@HhiEs '
Wmmmtmwmm@mn
wEl R *
FuTée SRR | q.. NaHCO;
YR BEEITRIES "R Na,CO,
qifes® e 3. KOH
@tﬁr&ma@aﬁa ¥. CHOH
.EF-‘Hi ,71-3,8-¥ B sk-x,@-a,n—?,a—q
F-¥, §-3, 19, T3 D. '

-3, @-¥, -3, 99 A
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56.
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58.

59.

60.

61.

62.

63.

‘ 76
£ WMW'HE{ - w. fava soag fagm @A

. s Hfu fawa : . - S wefEsh e

A, ET-IF ‘B. T-@-F-¥ C. @79 'D. UG-

T feaEs! e 1 7w 8 2 . :

%. T weafeam -3¢ FeFR @ fammpfey - ¥ AN

. e 9% fiem - q R W wafen ga e - R TR

A HHE : B. @HH C. 99A D. TG4 9 2EA
Morebver, a fact finding mission ...... by BSN to India in January this year strongly
recommended that the French group should go ?t alone, and not hand over ...... to an Indian
Partner.

A. organised; papers . B. constituted, authority

C. sponsored, power D. dispatched, control '

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete. ' '

There is a keen ...... in each trade. : )
A. contest B. comparison C. competition D. cooperation

Now, the management graduate can expect to have a prosperous life on a ...... income without
having to depend on finding a place in family busiess having to tend the paternal estates.

A. professional B. regular C. meaningful D. dependable
m@ﬁ{émﬁvﬁaﬁfﬁm~mm NG, ?
A. e G- B. d@svegids  C. FUTER R D. GIERIGL AT

%. FEERY 3. wfeea

| W@ 3. oA

LA o 3w

B R INET Y. Hage

A HRT-{T-YE-S : B. &-¥,@-3, TR, ¥9-%
C. &-¥,@-3, 79, ¥R : D. ®-9, @3 7-R,@¥

mmmmmmmmmmmmmﬁmm

3

. ﬁrahzastgtaz'~ :  w R A

-, . el S : A R A

€. oL g e

‘A @%-T-T9 B H&ITUE C F-EFH D F-1-T-T-F

A factory worker has five children. No one else in the factory has five children.
All workers in the factory have five children each.

Everybody in the factory has children.

Some of the factory workers have more than five children.

Only one worker in the factory has exactly five children.

oo
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66.

67.

68.

69.

70.

Snw

R4

Statement: "A rare opportunity to be a professional while you are at home - An advertisement

for computer literate housewives by a computer company.
Assumptions:

Some housewives simultaneously desire to become professional.
Computer industry is growing at a fast pace.

It is possible to be a professional as well as a housewife.

« A. OnlyIand II are implicit B. vOnly IT and III are implicit

C.  Only I and III are implicit D.  Only II is implicit
Statements: Some dogs are rats. All rats are trees. Some trees are not dogs.
Conclusions:

I.  Some trees are dogs.

I All dogs are trees.

HOI Al rats are dogs.

IV. No tree is dog.

A None follows B. OnlyIfoliows C. OnlyIandII fol}ow D. Alj follow

VERVE : ENTHUSIASM in the same way

A. loyalty : duplicity B. devotion : reverence.
C. intensity : color D. eminence : anonyrmty
forem TR :

. YRGS TIFEST 965 HEre 089 Hmwéﬁaq: TR AT TSTHIT WO TR )
q. WWWWWWQOMMR:%%RWmeu

A FIFEHWRF. B WIHHEE C /T v Do BHIA
mmmmmmmmmw; o
A.  dfvem dedt sefae sEE B. T fems s

C mmmm D, el HREw
mmmmm _

F. U e fafies 9. Wl fawm wmeE

. uftE yom fire e fafaes R, A A R yfaty v
. Tftem sam Fe fafiee 3. O, Ao e SR wee
. TRE 9 Y. 31, Stera an feer qee
A F-3T,T-Y -] B. $-Y,®-3, T-R, ¥4

C. &-9,@-R, -3, 9-¥ D.

-3, @-¥, 19, @R

'"Tax Holiday' Y 3 & ?

LA, I g faere feaew

YR HeYe Ao T g8 ST |sberd
FACE TS FHT AT T T T HeherT e Ty areeen
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. o . TAE A o defieim AR RRE
e TR S B. "& 8 -8 C. %87 D. ¥-&-T-@

Plck out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete

: Theboy fell «eee Dicycle, . ‘
A-tof B. off ~C. from  ~ D. under
The French ...... reputed to have a very good sense of humoui" RS
' A, . B. was: are D.  will be

ﬁgammﬁmtmmzmwﬁmmwm&ms.x
,mmﬁmm»

By Qe ST ST @. mm@wmm
fr.} TR Gl Safagd AEsE

A HIGHR B. @WIHH C. HIMAR- D. rnﬁma%‘f
w1 Pzt e TEEE T R TR S e A e o ? g

A fadh oven @ famm a0 -R04Y

B.. fafe famm uft wfaem -R0%0

C. Ao vfemeea favafammer 0%

D. e @i foam wfae™ ' ~30%¥

Werld Travel and Tourism Council BT I Bl 'l%?l 87

A. wa ‘B. WA c. U@ ) @ﬁm

W (o mm@mmwmwwm. Select a suitable

figure from the Answer Figures that would replace the question mark (")

. Problem Figures: Answer Figures: - )
AT (eoe
C (A - B) © D) (i) () s '(3). .‘(4)' (55-
Aokt B. 2 . C..3 D. 5

'Find the number of triangles in the given figure.
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80.

81.

82.

83.

85.

79

o B e s v R B 2

Choose the figure which is different from the rest.

OO0

| H @ B @ ©
A 1 R : Sl D C. 3 : D. 4

: mmmmﬁaﬁmmmm T GeR YSTREH! TEraT Fi dren o 2

Below are depicted the three different positions of a dice. Find the number of dots on the face

opposite to the face w1th one dot.

(n) (u.)
A 2 v B._3 : C. 4 D 6

A, &, SIS0 B. emvg" C. o, 3@ramve - D. < fefaasrs

foram TR -

&) mm@%mﬂwﬁqo%mmal

@) I T T WY AT ATGH] TG B

m Wiﬁfﬁm A Brief History of Time ¥ 955 |l Fah1i¥a wueh! fora |

A HIEHES®. -B. HINAHIG C. WINHFIE D, TIdF
3095 I & T FAETH AR T v TS W 2. )

A. Time is now, Rural and urban activities transformmv women's lives.

B. Equality matters. ’

C. Women's Empowerment leads to equality

D. Working together: Engaging men to end violence against women.

WWWMWWMWWWWI

%. I fohem woe afig 9¥R H 30, 095

@ g 950 | I €, 2095

1. FaU 9% A T 20, 045

A. FITIF B. @I C. IUdH : D. & @ITTI I
fovaesy Feaa, Mcaﬁma}aﬁaﬁa@a it

F. FaAHE TS ‘ 9. Torforma wamd

. gl Mierhd R. fPemez=ERa

. HaRR MeReH ERE T

Y., T TG TETET VR . T
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88.

89.

90.

91.

92.

80

A FEE-R TR UG B. &-3, @Y, 7}, ¥4

C. ®-¥,@-3, 7T, 9% D. ¥, T3, -3, ¥4

S TG, R00¥/Y, TR YRR TEH! G FAIGE T AT TEh! G& SR FHRE cvvvvveeneene
AR sisiscomssenns Hiera @R B :

A R33,¥3R B, Ry NR C. ’33,¥33  D. R93,¥R0%

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete.

Johny, where are you? ...... up this tree. :

A. Therelam B. Thereaml C. Hereaml D. HereIam
My friends.... the prime Minister yesterday. , _ s T

A. see B. hadseen C. saw D. seeing

" In an organization of pollution control board, engineers are represented by a circle, legal

experts by a square and environmentalist by a triangle. Who is most represented in the
board as shown in the following figure ?-

AN

A. Environmentalists

B. Legal Experts

C. Engineers with legal background , A

D. Environmentalists with Engineering background

Farere fad. 000 g 099 mmmmmmﬂm@wa ?
A, TGS SR, 9. $.37. fig, Temyee srer, fafy. wewen -

B. WGHIER FIEEH, TEHIE A1, 3. .47 FoE, fafo I

C. =3 fug, TSR S5, TEhyE sEd, fa.fa. e

D. WIgEHITER Hgver, 2. .. fie, fafu. FITUEAT, TSHIARE =

2 wium T fratee, ?womwmﬁﬁﬁahammmmmmwm ?
A R F,. W C. 1 D. 30
mmmmmm@mmmﬁmmmmq@m .
foraftm s = ia Mﬁaﬁ ?

How many dots lie opposnte to the face havmg three dots, when the given figure is folded to
form a cube?

® o
e
s s
°
K
® ¢js
®
..
e
s
A 2 B. 4 C .5 D. 6



93,

94.

95.

96.

81

mmmmmmmzmmm LEE T 'qm%
Tieen et W W A Y g 2

-In the following figure triangle represents glrls' square players and cxrcle-coach.
" Which part of the diagram represents the girls who are player but not coach?

s -—-)Playe?'s
A. P B. Q sl SRR D. S
mmwmmmmmmmmm.

Group the given figures into three classes using each figure only once.

={in
3=
!

&

&

@

.A. 1,47;259;38,6 - B. 26,9;147;583

C. '147:;23,6:;589 D. 35,1;4,78;629
e X Reswa shmea wm T 9 3, atv@vﬁamm ? ¥
Out which of the figures (1), (2), (3) and (4) can be formed from the pieces given in figure
X).

VTl R

Q XX\

A ( W (@ G @
A1 B. 2 C.: 3 D. 4

mmmmmmmwm|

Select a suitable figure from the four alternatives that would complete the figure matrix.
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97. feEr X =@M g gt g w2 Choose the correct mirror image of the given figure (X)
: from amongst the four alternatives. ;

X) 1) @) B) @
LA B. 2 ¢ 3 D. 4
98. ! Saret faER TR, THE SW SR |
) arfera TR A v geEen e fevrfes T A |
M) TIRYS TN T Soh ehT T AE S G TR T

A @E)IEMIE T _ B. (31 e, (31) e
Cc. @, TemEmE - D. (3§, (M) TE
99. TR T T TEREA HiTUH SXEE F1-T1 §1 2 ,
A o fefifem B, W &l c. T, D. e asE

100. fasr X =y o mm@ﬁmmmmmmmm ? Identify
the figure that completes the pattern

X) (1 2) 3 ) iy
A1 B, 2 c. 3 D4
Q.No | Answer 3 Explanation o
Key
1 |B 28|30 _[4D__|5D |6B [1C [8A [9A
10 |B. 20+b) SOGH ; '
Y
- =20+2b=5b
=3b=2l
2
b =3 '
Then, Area =216 cm’
=1xb=216
= 1x 2 =216
3 ‘
= I'=324 )
=[=18cm.
11 A. Let the average age of the whole team by x years.

e 11v - (26 + 20}y =9(x-1)
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= 11x-9x =46
=2x=46

> X 23. .
So, average age of the team is 23 years.

12

Let the man's rate upstream be x kmph and that downstream be y kmph.

Then, distanée covered upstréam in 8 hrs 48 min = Distance covered downstréam in'4
hrs.

:>(xx84) (yx4)

A Reqnired.ratio=(x‘i—x) : ()’5_
S T el )
B\5-%2) 5 X5) 1, ;

=8 3.

]
W
wnjw

13

17" June, 1998 = (1997 years + Period from 1.1.1998 to 17.6.1998)
0Odd days in 1600 years =0 ]

0dd days in 300 years = (5 x 3) =

97 years has 24 leap years + 73 ordinary years.

Number of odd days'in 97 years ( 24 x 2 + 73) = 121 = 2'odd days.

{Jan. Feb. March April May June

(31+ 28 + 31 + 30 + 31 + 17)=168 days
“ 168 days = 24 weeks = 0 odd day:

Total number of odd days = (0 + 1 +2 +0) = 3.

Given day is Wednesday.

14 .

@}

150 {16 [17D [184 [19.c [20.C |21c[22c 1238 [2a. B|25A

26.

27.A |28.D

29.

After 10 days : 150 men had food for 35 days.
Suppose 125 men had food for x days.
Now, Less men, More days (Indirect Propomon) » ' p
<+ 125:150::35 : x- @ 125 XxX= 150 X 35
150 x 35 PR *
Gy YT 75
x=42,

30

| When the hands of the clock are in the same straight line but not together, they are 30

minute spaces apart.
At 7 o'clock; they are 25 min. spaces apan

'- W e g BRGNSty | I S TN, s AT
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55 min. spaces are gained in 60 min.
A (60 . T
5 min. spaces are gained in (gg x 5) min = 5% min.

.. Required time = 5'121‘ min. past 7.

31

T.D.=

B.D. x 100
100 + (RxT)

=Rs. 420 x 1100
1 (15 xg)

420 x 100
=Rs.\""105 )
= Rs. 400.

32

There are two series (10, 13, 16, 19) and (5, 10, 20 40), one increasing by 3 and the
other multiplied by 2.

33

By the rule of alligation:
Cost of 1 kg pulses of 1* kindCost of 1 kg pulses of 2™ kind

Rs. 15 : MeanPrice  Rs. 20
Rs. 16.50
3.50 1,50

+" Required rate =3.50:1.50 =7 : 3.

46.

35.D |36B |37D . |38.A [39.A [40B [41.Cc [42D [43D |44D [45C |

47

Required difference = (128000 - 107000) = 21000.

48

aloio»

From the line-graph it is clear that the productions of Company X in the years 1997,
1998, 1999, 2000, 2001 and 2002 are 119000, 99000, 141000, 78000, 120000 and |
159000 and those of Company Y are 139000, 120000,100000, 128000, 107000 and

‘148000 rcspecnvely

Total production of Company X from 1997 to 2002
= 119000 + 99000 + 141000 + 78000 + 120000 + 159000
= 716000.
and total production of Company Y from 1997 to 2002
= 139000 + 120000 + 100000 + 128000 + 107000 + 148000
= 742000. :
Difference = (742000 - 716000) = 26000.

49

Average number of vehicles manufactured by Company X
1 -
=g X (119000 + 99000 + 141000 + 78000 + 120000 + 159000)
= 119333, ’ :

50

The difference between the productions of Companies X and Y in various years are:
For 1997 (139000 - 119000) = 20000. - ;
For 1998 (120000 - 99000) = 21000.
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-

For 1999 (141000 - 100000) = 41000.

For 2000 (128000 - 78000) = 50000.

For 2001 (120000 - 107000) = 13000. -
For 2002 (159000 - 148000) = 11000.
Clearly, maximum difference was in 2000.

3 ‘ 128000 :

31 4 Required percentage = (78000 X 100)% = 164%

52 C. Given the information presented, the only statement that could be considered true is
that the fruit should not be eaten because it is poisondus. There is no support that taxol
is poisonous or that taxol has cured anyone (choices a and b) There is no support for
choice d:

53 |B 54B  |55C  [56D [57D [58C _ [59B |60.A |61.B lez.c

63 D.

64 C. Clearly, a company would highlight only that feature in its advertisement which people

. crave for and which it can make possible. So, both I and III are implicit. Nothing can
be deduced about the growth of computer industry. So, II is not implicit.

65 B. Some dogs are rats. All rats are trees. -

Since one premise is particular, the conclision must be particular and should not
contain the middle term. So, it follows that ‘Some dogs are trees'. I is the converse of
this conclusion and so it holds. :

All rats are trees. Some trees are not dogs.

Since the middle term ‘trees’ is not dlstnbuted even once in the premises, no definite
conclusion follows.

66 B. 67.C 68.C [69.D 70.C 71.D 72.B 73.C

74. |D 75.B 76.B - £ ‘ :

77 D. . The right half of the figure islost and the remaining portion is shaded. -

78 D. The ﬁgure may be labelled as shown.

The simplest mamles are AGH, GFO, LFO, DJK, EKP ‘PEL and IMN i.e. 7 in|
number.

The triangles having two components each are GFL KEL, AMO, NDP, BHN CMJ
NEJ and HFM i.e. 8 in number.

The triangles having three components each are IOE IFP BIF and CEI ie. 4 in
number.

The triangles having four components each are ANE and DMF i.e. 2 in number.
The triangles having five components each are FCK, BGE and ADL i.e. 3 in number

The triangles having six components each are BPF, COE, DHF and AJE ie. 4 in|
number.

Total number of triangles in the figure =7 + 8 +4 + 2 + 3 + 4 =28.
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79 |B. All other figures can be fotated into each other.
80 D. From figures (i), (i) and (iii), we conclude that 1,3, 5 and 6 dots appear adjacent to

the face with 2 dots. Therefore, 4 dots will appear opposite to 2 dots. Now, from
figures (i) and (ii), we conclude that 2,3 and 5 dots appear adjacent to 1 dot Therefore,
either 4 or 6 dots will appear opposite to 1 dot..But since, 4 dots appear opposite to 2
dots it follows that 6 dots will appear opposite 1 dots. "

81 |B $2.B |83.A [84.D [85.A [86B [87.D [ssc [ |
89 D. Environmentalists with Engineering background is most represenfed in the board. -
%0 |B  |91B |92B A _y o
93 B. Q part of the figure represents those girls who are players but not coach.
94 |C. 5, 8, 9 are objects having both base as well as upper lid..
2,.3, 6 are objects haviﬁg base but not upper lid.
1, 4, 7 tare objects which have neither a base nor an upper lid attached to them.
95 |B. _ s 4
96 D. In each row (as weli, as each column), f}xe third figure is a combination of all the,
_ elements of the first and the second figures
97 " |C. ’
98 A 99.C

N @S

Magna Carta Liberatum Ha1usii Magca Carta 3ida mﬂ\e Great Charter
e T« 90 I TR S Riaa
AR T B « Ferear (Fife wreal, Sewardl FIoge Wt SRA)
e T YA« T BT (T S T Tl S s s fremen)
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50

Ac Y D) IRARID! NI Answer Key

L 1®O®O0OD® |26 | ®O®OD|5 [®®OD®| 7. |@®OO
2 |®@@®O® | 2. |®®O0O| 52 |@®0® |7 |[®@®0®
3. |O®OD® |28 |[®®OD| 53 |®®OD| 8. | @®OO
4 |OBOD |2 [BB®OD| 54 |®A®OD®|7” |®@®O®
5 |®O®00D |30 (®®OD| 55 | ®®OD®| 8. |®@®O®
16 |®®O0 |31 [®AE®OD®| 5 |®®O0 | 8. [®@®O®
7. |®@®O00D |2 (O®OD| 57 | ®®OD|%2 |®@®O0®
8. |®®OD® |3 |®O®OD| 58 | ®®O® |83 |®@®O® |
S |B®OD M |®B®OD| M |®®OD| % | ®®OD
0. @O0 |35 |[O®OCO| 6. | A®OD| 8. | O®OO®
I 1O |36 |O®OD| 6. [(A®OD®| 8% |A@®O®
2. @E®O® |3 |[O®OD| 62 |@®O®| 8. [AEOD |
3. |(®B®OD |38 |OBODO| 63 |[A®OCD |8 [®®O®
4. |(AB®O0 | 3. (BB®OCD| . |{®@EOD| . [®®OD®
15 |®®O0 | 0. | ®®OD | 6. (A®OD| % |@®OD®
6. |O®CO0 |41 (O®OD| 6. | BB®OD| 91:| ®®OD®
17. | ®®OD |42 |O®OCO| 6. | @®OD| %2 [®@®OO
5 @O0 |4 |[®®OD| % | @O | % |®@®0®
19. |[®B®OD | 4. |OB®CD| 6. | A®OD| % | A@®OD®
20. |(A®OO |45 |®O®OO| 0. | ®O®O®| % |@®O®
2. |[®®OD® |46 |®HB®OD | 71. | A®OD| % |®@®O®
2 (@O0 |4. |(®@®OO®| 72. | @®O®| 9. |®@®O®
23. |®@®O0® |4 [O®ODO| 73 | ®®OCD| 9% [®@®OO |
4. |00 |49 |®@®OD| 74 | ®®O®| %9 |®@®O®
5. @00 {5 |®®OD| 75 | ®®O® | 100.| ®®O®
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oTafolT u%flﬂt AT : § (Set 6)

1. mmwmm:

e -, T ™ -8, [ TH )
) TEg 3. TS HRE
) s 3. ufEm
3 WA 3. e smeEs
3 f=m Y. ageuve
K. qefa
| B S |

A ¥ 9 C R |
'B. ¥ 9 R L
C. 9 ¥y 3
D. ¥ 3 R 3

2. AU T A e SR T T S Rieet e e I e
A. feem - g
B. ™ - et
C. Wy - oy
D. BHFER - TS

3. S e S R TR -
C . U I IR e e
@ A T IR S R B
. A AT fovE Wl gEE GHE TR B
A FIEIAEEE  B. ﬁznmﬁﬂz’r C. @IMHE T D. @I TS

Question No. (4-8) based on the following passage:

Courage is not only the basis of virtue; it is its expression. faith, hopp charity and all the rest don't
become virtues until it takes courage to exercise them. There are roughly two types of courage. the first
an emotional state which urges a man to risk injury or death, is physical courage. The second, more
reasoning attitude which enables him to take coolly his career, happiness, his whole future or his
judgement of what he thinks either right or worthwhile, is moral courage.

I have known many men, who had marked physical courage, but lacked moral courage. Some of them "
were in high places, but they failed to be great in themselves because they lacked moral courage. On the
other hand I have seen men who undoubtedly possessed moral courage but were very cautious about
taking physical risks. But I have never met a man with moral courage who couldr't, when it was really
necessary, face a situation boldly.
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4. A man of courage is

A.. cunning B. intelligent C. curious : D. ' careful
5, Physical courage is an expression of

A. emotions B. " deliberation =~ C. uncertainty D. defiance
6. A man with moral courage can

A.  defy his enemies B.  overcome all difficulties

. C. face asituation boldly - D. be very'pragmatic

7. People with physical courage of ten lack ‘

A. mental balance P ~ B. capacity for reasoning

C. emotional stability 1 D. will to fight
8. . All virtues become meaningful because of .

A. faith B. charity C. courage D. hope
9. fafvm wemes 1t mmmmmmmmm

a. STCTS BIE . ™ 1. =feqor smafe

b. e - 2. SRR

c. RN Afesel _ /3. Fm

d. e ‘ 4. wfipwt

A. a-3,b4,c1,d-2 B. a=3,b-1,e-2,d4

C. a+4,b-3,c-2,d-1 D. a4,b-1,c2,d-3

10. mmxmmmﬁmmwm
F. TSIV IRfeRere ST e
W, TA I T AR R B ' T
A wfw @dfss B wabsafs C @ D. T@IBw

1. G Tied el B 8 2 .
A TEE ~ ¥t 5T SHortern fafem 3
B. fagm - gfget TReh! a1
C. 3= - gare! a1 9fEs
D. s SuFEt - =g foeam safeem

TeTeh! FArETH G TR TRl F G Seoid TRUS! S | THEHT SERAT ae Qe Je! 3w e |

The following pie-chart shows the percentage distribution of the expenditure incurred in pubhshmg a
book. Study the pie-chart and the answer the questions based on it.

 Various Expenditures (in percentage) Incurred in Publlshmg a Book :

. Promotion Cos
10% Transportatxon

S Cost
7. Printing Cost 10%
20%
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13.

14.

15.

16.

- 17.

18.

19.

20.

90

ﬁmuﬁmmmmmmz 30iooaﬁﬂéﬁmmw
EHH! ATed 94 Hid fag I« ?

If for a certain quantity of books, the publisher has to pay Rs. 30 600 as printing cost, then
what will be amount of royalty to be paid for these books?

- A. Rs. 19,450 B. Rs.21,200 C. Rs.22,950 D. Rs. 26,150
AT TR G i FSHH B0 D ?
What is the central angle of the sector corresponding to the expenditure mcurred on
Royalty? .
A, 15° B. 24° C. % - D. 48

mmmmmmmwﬁmmm f fepaee Jifera ToH T. 950
Fruior TRTR © s W P T TR S Hi @ ! Sl 2

The price of the book is marked 20% above the C.P. If the marked price of the book is Rs.
180, then what is the cost of the paper used in a single copy of the book?

A. Rs.36 B.  Rs.37.50 C. Rs.42 D. Rs. 4425 '
yyoo Wi Frare®! STE URS QAR %. GRY00 TH WA Y YHRIFA W Wi FAH IR W
ferararen! fasha e wfa freivor 7 ot 2

If 5500 copies are published and the transportation cost on them amounts to Rs. 82500, then
what should be the selling price of the book so that the publisher can earn a profit of 25%?

A. Rs. 18750 B. Rs.191.50 C. Rs. 175 "D. Rs. 180 )
Tepareen! I “@'@ém w@maﬁrm'& ? Royaity on the book is less than the
printing cost by:

A 5% B. 33%% C. 20% . D 25%
TRETOT TEER TG SR oaRa feht 5o e W&t ST orger :

. TR T A Y. @. oS e &

. HOUTER T A WL TR HE A

A, @FH-T-H B. F-@-¥ C. 798 D ®TIT-H
Lithophyte F& STREsH TE S ?

A, TFET YT TIHT A9TH] g9 SEHT b It

B. o fem g ot

C. el qrEr g aaEata

D. =gH 91 g 35 gt

FTATERYT 5Eh! Aoe] IR MR e TSRS (o ?

A. Global- 500 B. Goldman Envi_ronmem Prize
C. Galante Conservation Award D. Green Peace Prize

et Fersprren fagraes deee) B9 A /3& ? :

9.  Sifges fafayamn s @ SwHen

3. Yool e SHAIS B

CA YIRS BN RIEER C. 33390 D. §,2%13%d
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21.  Pick out the best one which can complete incomplete stem correctly and meaningfully
Unless you work harder you will fail, means ......
A.  if you fail you will work harder
"~ B. you must at least plan well than you will not fail
C. hardly you will fail if you do not desire so
D. if you do not put more efforts, then you will fail
22.  Pick out the best one which can complete incomplete stem correctly and meaningfully
His behaviour is so unpredictable that he ......
A. never depends upon others for getting his work done
B. isseldom trusted by others
C. always finds it difficult to keep his word
D. always insists on getting the work completed on time

23. mmmm-mommmmmmmmmmm?

A. oX°C B. 0X°C C. 90.%°C PIRO%° C
24. AU o REUEH AMIIEE S SHUEA 6l WUHIEE SHE! SHEE1 e w8 ST ovae ;
F. O T el 1. "R . e
A F-H-T-@ B. ¥-%-71-@ C. H-9-@-7 D. T-9-%-@
25. % e R O SRS e S T g St S T ?
A TS B. fS@& C. 9% D. TSEst
et foreTd e SRS (T R/IRS) :
% fosmwea i FERI FOA - A, wfdar
. W IEA ii. foSdiam AL ARH
T T yER fea iii. Ui amem '
. IRg It iv. uftadq
26. A F-ii -H B. @ -iii -3 T C W-i-3m D. ¥-i-3
27.. A F-iii -3 B. ®@-iv-a C. T-ii—- ~D. "-i-3#
28.  Odometer is to mileage as compass is to...............
A. speed B. hiking : C. needle D. direction
29.  Here are some words translated from an artificial language.
slar means jump

slary means jumping
slarend means jumped
Which word could mean "playing"?

A. clargslarend B. clergy C. ellaclarg D. slarmont
30. wwE fesm Reud dofiend 7 et frmran & 2

_ Select a figure from amongst the Answer Figures which will continue the same ‘series as
established by the five Problem Figures.
Problem Figures: Answer Figures:

\eeEEIEEERR

@A B © O (E H @ & @ -6
7 S | R - R C. 3 . D 4
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32.

33.

35.

36.

37.

38.

39.

40.

41.

92.

ot X = e m @ \’ﬂ'ﬁﬁi FA W 2 Choose the correct water image of the given figure

(X) from amongst the four alternatives.

e (1 (2) 3y - (@) _
A1 B. 2 C:i3 D. 4
R0%/%3 B SRR THErs T SR T el 4% oo i
I ey a8 R _
A, R0%3 SR §R, Fosreran are B. -20%3 S¥TE 43 AR TAIHE
C. o3 Swr@ 9, Forreran aee D. 083 SR ¥, ARAIF AT
Toreen! ufeelt AT TG e ... U
A.  Hiereg, fadmmel yeras B. rifee, sameen R
- C.  YRa, wfasn wifes D. wifva, feom w8%
Tersiprem waemm Rt fafv =t T fm mmmmmma ?
A, WIS : R 91 HiY SaEd B. 39U X : I faia e @ w1
C. TEIUg HT : TS A T D. ¥ ; GYAIEH &1 TS SIEAHT T H
ATt T G W T H-HA SR s ) 2 :
. "HIO¥R . . YrIgY T YRISRe . YW IGE
A ®wIE - B. HIT C. &@IT - D. %,@I¥
The stenographer is very efficient. He is ............ to his firm.
A. aboon B. acredit C. -ablessing D. anasset
However, the group's long-term strategy is to ...... on core sector business connected with
mfrastructure and energy.
A. breed B. develop C.  concentrate D.  depend
The man came in a van to ...... the television set.
A. mend B. reform C. correct D. alter
TR e :

F. BRI A T ST TG OIS TR For |

W, BRI TSR FH B fawga fasty faam fawmst w9 3 yrass wtens 1 Tt 23 o fren
M. 183 990 i ggH! W A sresel yHRE e

A H1@ HEfes B, winHmfes© C. wIinuEfes D mama&fea:
mmmWﬁmmmmmmmmm ?

A T B. e C. u=t D. =1 -

! A R i T ST ¢ '

Find the missing number in the series.
8,11,21,15,18,21,22,2,?

A. 25,18 B. 25,21 C. 25,29 - D. 24,21



42.

- 43,

44.
45.
46.

47.

48.
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Read each sentence to find out whether there is any grammatical error in it. The error, if any
will be in one part of the sentence. The letter of that part is the answer. If there is no error,
the answer is 'D'. (Ignore the errors of punctuation, if any).

A. We discussed about the problem so thoroughly
B. on the eve of the examination

C. that I found it very easy to work it out.

D. . No error.

TS TEEH G A e JgnTEH B | fiem v e sraeem wite m@m‘*w

BT 2

Two positions of a dice are shown. When 4 is at the bottom, what number will be on the
top?

1 /] 1
s |2 | 5|8
M . G

A1 - B. 2 : C. " 9 D. 6

S Regus SEmfs To faacaeens) g9 RS ? '
Look at this series: 2, 1, (1/2), (1/4), ...

What number should come next? R

A (13) B. (1/8) - C. (2/8) D. (1/16)
weren! S 9U THER -

Complete the folldwing series :

-SCD, TEF, UGH, ,» WKL -

A. CMN B. UI C. VI - D. UT
HIF TG WA A= SUhah! I ToeR ey :

. T R099-00 : I WL Welra Sifares farfasan soe

W. T 094~ 0 : AThHT Sl WfRIEEHT S SRifeT Tuw

T.  § 309%- 3035 : United Nations Decade of Family Farming

A wmiEfes B. H17fsw Cc. wInfew D. wafsw
International Day of Democracy Hed TES? :

A 99 HORR B. 94 §=F=R C. L= D. R% YRR
MWWIWWWWWWWWWWM:
EN IRETRIGL <3

ECAE FHSRIGT 9T

LI T3 IR :

Ao iy Sgaen

-9, @-], -3, ¥- ¥
F-3, @9, T3, ¥-¥

A H-R,T-3, 7%, 9-Y

9.
R
E
¥.
Y. HIYFHAR A9
B
C. &H-R,@-3,7-¥, ¥-¥ D



49.

50.

51.

52.
53.
54.
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56.

57.

58.

59.
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e e R R 2
Which word does NOT belong with the others?
A. wing B. fin C. beak 'D. rudder

Statement: In order to reduce the gap between income and expenditure, the company has decided
to increase the price of its product from next month. :

Assumptions:

The rate will remain more or less same after the increase.

* The expenditure will more or less remain the same in near future.

The rival companies will also increase the price of the similar product

A. Only I and II are implicit B. Only II and IIT are 1mpllclt

C.  Only III is implicit . D. Only II is implicit

SAFTA F=ria® Trade Liberation Programme e g A TR R ?

A. 9 Fa, 008 B. 9%, 00% C. e 008 D. 93T, R00%
Tftga wv e Fmfor e TR T TR Y | T PR v

A. =, TR g . B. YW, AW 96

C. ¥, TR 9g D. <M, g IS
m@mmmw@m ? ' -

A. it Al 98 B. Senior Officials Committee

C. Standirio Committee - D. Specialized Task Force

Shreifis STaTE T, 003 FTAR A SU T HE S IHFS 2

A, Y FAS 9= 911 FeeR st wwep B. wmﬂgwwﬁaﬁeﬂgﬁm
C. 90 HUS =1 "ify freR Ysit weant D. wiferest A ufv BgA

Nobedy can ...... me to do anything which I do not want to do.

A. encourage B. request C. oppose D. compel

A sanguine outlook is assoéiated with the ......

A. rationalist B. socialist C. philanthropist D.  optimist
His conduct is bad, and his honesty is not ...... suspicion. {5 B
A. above \ & beyond : C. under D. in.

TR TR T weceoeenee mw@aﬁlmﬁmmm ........... o v@iﬂ
A. 8. 9R%0, 035 : B. fad. 9’0y, 3035 .
C. fad.9%90, R0%0 D. fa¥.9R0g, 09%

TeTeh! ATETH! foR TR :

) Fafers srferga smism1 e fSeem 9 |

o) SR SAfaE STasH Srge foeemT ©S |

A @GHIEDTEE . B. (37) T (3M) 3 e

C. (30, 7o (31) 6 _ D. (30 T, (3 e
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61.

62.

63.

64.

65.
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Statements: The best evidence of Nepal's glorious past is the growing popularity of Ayurvedic
medicines in the West.

Conclusions:
Ayurvedic medicines are not popular in Nepal.
Allopathic medicines are more popular in Nepal.

A.  Only conclusion I follows - ' B.  Only conclusion II follows
C. Either I or II follows . D. Neither I nor II followé
TET (58 O A G A 55 ? ‘
Which one will replace the question mark? :
12>/ S 16>/7 ) 21
80 - 207 7
A. 184 - B. 210 C.- 241 - D. 425
TRt qEY H %9 T S 2. Which of the following statements is not correct"
A. logip10=1 B. log(2+3)=log(2x3)
C. logyl1=0 - D. log(1+2+3)=log1+log2+log3

Wﬁ@mmmama WO T Y S A 3 TgoR e T e 3
SRISR S Hia s fimeg et 2

A vessel is filled with liquid, 3 parts of which are water and 5 parts syrup. How much of the
mixture must be drawn off and replaced with water so that the mixture may be half water

and half syrup? _

1 1 1 1.
A. 3 B. . ) | C. 3 D. 7
e o s iwge e s s o fed e w@im) '
b : ; ik (C]
¥) quREn HEfgeR : 9. HRE
M) amferen Aefasr . fos@
'3 Tordes mefasr 3. o
3) fonrafien gefaer Y. uifssm
A IR, R, Y B. M, B, H{,RN

C. M, R D. IR, BN

| TR T TR e e tﬁﬁwmn |

3 aTIE v Sforer TEeE TR 9E B |
3) mmmmmnﬁ@mﬁﬁl

A () T, (o) T _ “B. (31 T, (31) Ted ' :
C. (30, Tra (3m) w&i D. (31 Edl, (3m) T
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67.

68.

69.
70.

71.

72.

73.
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fee forve got I S o o 2

A TIR9E ARG B. TIRIG AW Y

C. FIRIG W R D. FAIRI5 AW IR
e 318 W |

) FAFE T AR HARET ..o Ll

AT)  AETATISH! A Ao Gl ;

A. 38 Parallel, foam Za B. 49 Parallel, &=

C. 49 Parallel, fmm D. 49 Parallel, aff

e % T OE @ fo= s fire ot ey srgdw |

TED ' wEE

H) TR S . 9. TEen

am feem v . AT

3) AN WSS 3. TRE

3) foume wrE R

A MR . - B. 33aM,3Y%,3R

C. M,MR,¥ _ ' D. IR, |,H

It is 14 years since i ...... him. R, .

A. have seen B. had seen C. ' saw D.  see _
It being an ...... issue, it is not correct to introduce questions of morality in to the debate.
A. moral B. .immoral C. amoral D. irrelevant

mﬁﬁmmmpmmvhﬁmaﬁmmmmﬁmWW
TR ¢

. WA . @ YEr . AfEE 5. e
A TF-T-9 ‘ B. ® & T-¥
C. ®WT-%H-¥9 D. @ %-9-7
et et Tt ST o e
TES R e :
) anfre Temm 3. 999 .
am) fagned vemmEt R R fEA
3) N TSR 3. 959.R e
%) @ e ¥.  *q e
A. Y, IR, RN B. M, I N,
n, AR, sa,év’ D. 3,3R, 7Y
A. Mesosphere B. Stratosphere, C. Troposphere D. Thermosphere

Yy Rt AgHvSEH TEETHl YR Tae R S FemeR A free e erg
A. ABCD = B. ADBC € CBAD - D. D-A-C-B
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75.

76.

77.

78.

79.

80.

81.
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83.
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Tereh! Sl Aty 3 I SR - :

Find the odd man out.

8,27, 64, 100, 125, 216, 343 :

A 27 B. 100 : C. 125 D. 343
ww;;;fmmm xmmwawwmﬁnﬁwmmmm
A=A ?

From a group of 7 men and 6 women, five persons are to be selected to form a committee so
that at least 3 men are there on the committee. In how many ways can it be done?

- A 564 B. 645 C. .735 D. 765

A TETEE A A,B,C & TS Wi TRF W HA: 30 e, R0 fRe T q0 e e |
A R T T Eies TRy i S € 9 2

Three pipes A, B and C can fill a tank from empty to full in 30 minutes, 20 minutes, and 10
minutes respectively. When the tank is empty, all the three pipes are opened.

7 8
11 D.

C. I

(9]
=lon

A "mYsfee B, weadfewe  C. SRS D. =gui femm
Frafefaen! SR THee uivameh! e e v fase e '

A, TEFITRER, Teha, TeE, e B. %], SRR, Soher, oeias],
C. 3%, Teshal, TTs, SRR - D. ¥, SEFATRY, T, Geehet
eI HEE WLl FIEY AIeeh! SeEen! H7 SR ©h S 2

A, HRIRE3 - B, HWRGEL C. ¥NRGE D. RI39¥
LSS LA R EEs | 2 O evvannenesenne. Y U TG U1 AT

A.  9YH §AMfd B. WAeEE C. =T ' D.  EFEFAE
Natwarlal ...... them all for a ride by producing false documents. i

A. took B. cheated C. kept D. et

‘True brevity ...... in saying only what needs to be said.

A. consists B. depicts C. portrays D. resides

¥3,29 1953 TE ST 751 THF N SIS T 3A e I TrTgerd |

Find the greatest number that will divide 43, 91 and 183 so as to leave the same remainder in
each case.

A 4 B.s 7 - C 9 .. 13

- e e fsut Sofiens %57 fasmeaet frmaeat 575 2 Select a figure from amongst the Answer

Figures which will continue the same series as established by the five Problem Figures.

- Problem Figures: Answer Figures:

BB R D R B BB D

(A) ®3 O ﬁD)" (E) (D (2) (3) 4 (©))
A 1 B. 2 ¢ -3 A D. 5
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86.

. 87.

88.

89.

90.
91.

92.

93.

94.

9s.

- 96.

98

" Doing Business Report, 2018 sxgmemamﬁr AR S ?

A. 0% B. 90% C. 9ov D. 905
- i T 0016% HT TorHT TR T IS TH FAE covvevencnnnce uﬁmat ........ crrenee. FAT SR

Tafrem e 31 _

A, S¥03, RR B. ¥.30,33R% C. &%30,33R% D. %3.0%, R

Find out the value of X

an**xa7n*=17* . ‘ A

A. 229 B 275 C. 425 D. 45

A,B,C & TYTH TIH! SATIRHT ST 7T Sor SHIGSEHT A & . §400 SRR i, B & 5¥00 Ui
TR AT T C & 90,000 A A TR TN W, A A ¥ Wiewa w KA qrEwdn W W
S, A AH O¥00 FHISIT B HY AHEAT Hiet TR Brew 2

A, B and C jointly thought of engaging themselves in a business venture. It was agreed that
A would invest Rs. 6500 for 6 months, B, Rs. 8400 for 5 months and C, Rs. 10,000 for 3
months. A wants to be the working member for which, he was to receive 5% of the profits.
The profit earned was Rs. 7400. Calculate the share of B in the profit.

A. ‘Rs. 1900 - B. Rs.2660 C. Rs. 2800 D. Rs.2840 '
Tafir= = wea 1CC T20 favasy Brse T i widifreset fasm 7o sufasmme! sirer 57 Tea
B, Wi TR -
fawasa o Iuferr

A. |R0%0 TS seferan

B. |09} EISESal I fres

C. |R09¥ CINERD| LG

D. |R0% qesiies  |3RAws
Health is too important to be ...... :
A. discarded ., . B. despised . C. detested D. neglected
In hot weather I like lying in the ...... of a tree.
A. shade B. shelter C. protection D. . shadow
Tftg T ferrmraett, 004 ATAR ARSI WA & ARIRTEEHT TermnTel 1 O ?
A. A, G a9 9Md AfySR afufa B. faurd sy wfifa
C. ity WsR a9 9= |fafa D. T fawm qen gemem wfafa

Look carefully at the sequence of symbols to find the pattern. Select correct pattern.
EME|mmMmM|EwE|w 2 w

rm n L =
(1) (2) 3y (4)

A. 4 B. 2 C. -3 D. 4
In a state of tension or anxiety or suspense is called.............
A. Off balance B. Depressed C. Diffused D. On tenterhooks
Choose the one which can be substituted for the given sentence. ’ '
To slap with a flat object................... 2
A. Chop - B. Hew C. Gnaw D. Swat
9% 3t -7 TheeH, 0 A s A SR IR eft
Tom T m=ran :
A. . e gferE e, 9-0, e s B. Tiyem st s, ?—onﬁmsﬁ—mm

C. Tu=RrsE, -9, 59T qEiEs] o9 D. 9 gferd e, -0, I Fo« (@)
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97. dorR! AofeTs U THRRY -
Complete the following series.
9,16, 23,30, 37,44,51,7,? , ' !
A. 59,66 B. 56,62 C. 58,66 D. 58,6
98. Marathon is to race as hibernation is to ’
A.  winter B. bear 8 C. dream ’ D. sleep
99, AqTeTR! SRIETAHT SRV W] T Ufeel 0% qorh! [Theies S S THe;:
A, TRWHY, 00¥ HE G , B. TURA. 3, 300¥ HE 95
~ C. R ¥, 00 AE Y D. TIH. 9, 09¥ HE Y
100. Tova®y Feae, T R SIec SSTH! el T ] ahale ! el 2
A. i B. R C. hufaa - ~ D. UEM
Q.N.| Answer . : Explanation
Key _ ' ‘ ‘ A
1 |D 2D [3C - [4D . |5A; |6C 7B [8.c JoA Tioc |11C
12 € Let the amount of Royalty to be paid for these books be Rs. r.
Then, 20:15=30600:r = r=Rs.30600x 15 =Rs. 22,950.
13 |C Central angle corresponding to Royalty = (15% of 360)°
= -1_1(-55(-). x 360°
: = 54"
14 |B Clearly, marked price of the book =120% of C.P.
' Also, cost of paper = 25% of C.P
Let the cost of paper for a single book be Rs. 7.
. 25x180
Then, 120:25=180:n = n=Rs. 120 = Rs. 37.50.
15 A For the publisher to earn a profit of 25%, S.P. = 125% of C:P.
‘ : Also Transportatxon Cost = 10% of C.P.
Let the S.P. of 5500 books be Rs..x.
Then, 10:125=82500:x = x=Rs. '122%2—5—99= Rs. 1031250.
{ - S.P. of one book = Rs. }%%Q =Rs. 187.50
16 |D Printing Cost of book = 20% of C.P.
Royalty on book = 15% of C.P.
Difference = (20% of C.P.) - (15% of C.P) = 5% of C. P.
.. Percentage difference = Frl%:%i%%%s—t x 100%
;—Om 100% = 25%
rinting Cost
117 _|D 18.D |19B J20D [21.D [22B [23.C [24.A [25C [26D [27.B
28 |D An odometer is an instrument used to measure mileage. A compass is an instrument used
to determine direction. Choices a, b, and ¢ are incorrect because none is an instrument
29 - |B According to this language, slar means jump. The suffix -ing is represented by -y. Since
choice b is the only one that ends in the letter y, this is the only possible option. y




100

>

30 |A. Two elements are added in each step, be it two lines, two arcs or one line and one arc.

31 |C ) ' '

32 |C 33.B [34B  [35D [36.0  [37.C [38.A [39D [40B

141 B This is an alternating addition series, with a random number, 21, interpolated as every
third number. The addition series alternates between adding 3 and adding 4. The number
21 appears after each number arrived at by adding 3.

42 |A

43 | A. From figures (i) and (ii), we conclude that 2, 3, 5 and 6 he adjacent to 1. Therefore, 4
lies opposite 1. Hence, when 4 is at the bottom, then1 must be on the top.

4 |B This is a simple division series; each number is one-half of the previous number.

In other terms to say, the number is divided by 2 successxvcly to get the next result.
4/2=2
22=1
2102
1/2)2=1/4
-{(1/4)/2 =-1/8 and so on.

45 |C There are two alphabetical series here. The ﬁrst series is with the first letters only:
STUVW. The second series involves the remaining letters: CD, EF, GH, 1J, KL.

46 |D 47.B 148.Cc |

49 |C The wing, fin, and rudder are all parts of an airplane.

50 (D Clearly, the company intends to reduce the gap between income and expenditure by
increasing the price of its product i.e. by keeping the expenditure unaltered and
increasing the income only. So, II is implicit.while I is not. However, the rival companies
may or-may not follow the same pursuit. So, III is not implicit.

51 |€ 52A  [53.A [54.A |55D [56D [57.A [58.A [59.A |

60 |D The popularity of Ayurvedic or allopathic medicines in India is not being talked about in
the statement. So, neither I nor II follows

61 [A (12)°-(8°=80

: and (16)” - (7)* = 207
Therefore (25)° - (21)> = 184.
62 |B ‘I(a) Sincelog,a=1,s0log;,10=1. : :
(b) Jog(2+3)=log5 andlog (2x3)=log6=1log2+log3
log(2+3)#log(2x3) . (
(c) Sincelog, 1=0,so0log;1=0.
(d) log(1+2+3)=log6=log(l x2x3)=log1l +1002+1003
So, (b) is incorrect.
63 Suppose the vessel initially contains 8 litres of liquid.

Let x litres of this liquid be replaced with water.

’{
Quantity of water in new mixture = 3 - g X litres

G : : 5X ..
Quantity of syrup in new mixture =5 - ) litres

3x 5x
..3.—8+X=5'8
=5x +24 =40 - 5x
:.10 =16

U\IOO
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8. 151
So, part of the mixture replaced = 5X3=3

64 |A 65.D |66.8 |67.C.  |68B |69.B [70.B [71.B [72B [73.C

74 B The pattern is 23, 3°,4° 4 5°, 63, 7. But, 100 is not a perfect cube

75 |D We may have (3 men and 2 women) or (4 men and 1 woman) or (5 men only).

*. Required number of ways = (G x%6) + (0 x°Ch+ (Cs)
LN
. 7x6x5 ° Tx6
=5251"3x2x1x6+2x1
=(525+210+21)
=756. :

Ll o Part filled by (A + B + C) in 3 minutes = 3 30 210 24 =3x é(l) ;(1) ’

Part filled by Cin 3 minutes = T% .
Requ;red ratio = 130 %(1) 161

711D 78.C [79.A [80.D [81B  [82.A |

83 |A Required number = H.C.F. of (91 - 43), (183 - 91) and (183 - 43)
=H.C.F. 0f 48, 92 and 140 =4. )

8 |D. The arrow moves one, two, three, four, ...spaces ACW sequentially. The arrowhead

’ -changes in the sequence: circle -> arc -> triangle -> circle -> ...

85. |A 86. B | |

87 |D Let (17)° x (17)* = 17".

Then, (17)°**=17%

s 35+x=8

=>x=(8-3.5)

=>x=45

88 B For managing, A received = 5% of Rs 7400 Rs. 370.
: Balance = Rs. (7400 - 370) = Rs. 7030.

Ratio of their investments = (6500 x 6) : (8400 x 5) : (10000 x 3)

- =39000 : 42000 : 30000
=13:14:10

*. B's share = Rs. 7030 x :‘:% =Rs. 2660

89 |B. 90.D [91.A [92.A |

93 |C This is an alternating series. In the first segment, the letter "E" faces right, then down,
then right. In the second segment, the letters all face down. To follow this pattern, in the
fourth segment, the letters must all face up.

94 |D 95D [96.A [

97 |D Here is a simple addition series, which begins with 9 and adds 7.

98 |D A marathon is a long race and hibernation is a lengthy period of sleep. The answer is not
choice a or b because even though a bear and winter are related to hibernation, neither
completes the analdgy. (Choice c) is incorrect because sleep and dream are not
Synonymous. :

99 |B

100.B
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, ataaﬂmﬂﬁ’ﬁlﬁIAnswer Keyv _
L. (OO (26 |(AEOD|5.|[@®OD|76. |®@®O®
2. |®®O0 [27. O@®OD®| 52 |®®OO®|77. | ®®O®
3 |®O®OD@ |28 O®OD®|53. | AAOD|78. |E®OO®
4. |®@®OD |29 |®®OD®| 54 | A®OD®| 7 |®@®O®
5 |®®OO |30 |A®OD®|55 |[A®OD®| 8. |®@®O0
6. |®B®O® |31 |A®OD| 5 | O®OD| 8. |[A®O®
7. @O0 |32 |A®OD®| 57 |®®OD® |82 | ®®O®
5. |®®O0 |33 |®®OD| 8 |O®O0D |8 |®@®O®
. |@®®OD® | M [A@B®OD® |5 | OeO® |8 | ®®OO®
10. | ®@B®O0D |35 |O®OD |6 (A®OD|8. |A®OO®
1. |®®O0 |36 |O®OD| 6. | A®OD® |3 | A®O®
2. |®H®O0D | 3.  ®O®OD®| 62 |@®OD® |8 | A@®O®
13. | @00 |38 |O®OD|63. | A®OD|ss [A®OD®
4 |®H®OD@ | 39. | O®OD | 6. AO®OD| 8. |A®O®
15 |(AB®OD® | 0. | ®®OCD | 65. | A@®OD| % [A®OD®
16. | ®B®O® [41. |(ABOO| 6. (A®OD|9. |[A®O®
17. |®®O0 | 2. | ®®OD® | 67.  ®®OD| %2 [A®O® -
B 1®®00 | B |1O®O0D| % | ®®O0OD(% | A@®O0O®
19. |(H®OO | 4. | O®OD®| 6. |A®OD®|% | ®@®O®
20. @BOO |45 (A®OO| 0. [ AEOD®|9% | ®®O®
2. |(HB®OD® |46 |A®OO®| 7. | A®OD®|% | A®O®
2. |®®O0 | 4. |(B®OO|72. ®®OO|9. |®®OD
23. (OO |4 |(A®OO| 7. |[A®OD |98 | ®®O®
2% OO |4 |®®OD| 4 | O®OO®| % |®@®OO
5. | @O0 |5 [ ®®OD®| 75 | ®@®O®|100.| ®®O®






